= 0.2 ~ 0.2
3 ~F s
= S015F :
A 0.15 B e e S
S o r + >
i~ o | O O PP
'\? 0.5 v 0.1:— """"" ¥
0.05 0.05fF -+ FpLp e
0 OF -+ -1 B TR EECITTRURICR SRR
-0.05 —0.05F - f -
-0.1 —0.2F- e e RLREEREE
-0.15 - NI SeEEEEEEEREE [EEE EERDE (D LR RRECRRE RRECREECREE
9_&2: L |||||! ": 1 |||! L ||||||! L _9_0-2.-—":"":”'“'!' ‘"'u_ _||__|_|_|!_ __________
A 3 | L] 5
@ e N 1 Tt T 24 [ I : :
: I : os—* O RS e
0.5 --===nnnn o B R AR [ T : :
C:71 : : :2 3 O-71 : : :2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)
—— DQM_CKF_SoftQCD
—— DQM_mkFit_SoftQCD-
—— DQM_mkFit_SoftQCD-fixCloner
g 100E g 100:
N BOp PN (o] SECRPRR B RORRR b
® 60F 3 C
o] -
s} UUUTRUY IS VRO I | PP
8 40 \Y 60: 1

100+ '.'i...'...'.' '..'.'.'i....'..'..'.'.'.'.".i....'..'..'.'.'.'!'

£

..............................

<0 / > (Y0
PP, > (70)
O = N W N O

..............................

.............................

.............................

.............................

—1 ; I : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


